Trlg Derlvatlves -
I\/IIXED REVIEW
(P ractlce WS #4 5 6)
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y=ax-cotx
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#2 Fmd the derlvatlve W

y—tan xcotxcscx
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. #3 Fmd the derlvatlve W

y sec (6x )
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. y-Dcos"x
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W #6 Fmd the derlvatlve W

y sec x sm xsec x
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. #7 Fmd the derlvatlve W

y CSC (2x )
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#8 Fmd the rate of change
for the followmg at (X 5 n)

y=sinx- Cot X
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. #9 Fmd the derlvatlve e

e cotx

y cosx
i cscx
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#10 Fmd the slope s
for the followmg at (x n/4)

f(x) 4x —COSX smx
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SOLUTIONS

1. Yy =—-4x>(xcsc” x—6cot X)

4

2.y =secxtanx

Yy =18x° sec(6x® —2) tan(6x° —2)

,_Xsec’x—2tanx 5 y'=_12¢0s° xsin x
10x°

L y'=0 7.y =—12xcsc’(2x%) cot(2x?)

' (X)=-sinx, f'(zx)=0, ..m=0

y' =

. f

I I A

=0

'(X) =8x+sinx—cosx f'(— ) 2r c.m=2rx
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